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QUESTION 1
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Supercar Supercar is an online vehicle sales website specializing in single manufacturer\\'s Sports Utlity Vehicles

(SUVs) and saloons. A vehicle has two key elements, power unit and body style. The manufacturer ofers three choices
of power unit: petrol, diesel and hybrid. There are 3 main body styles: Saloon, Hatchback and SUV. SUVs only come as

petrol and diesel optons. Hybrid is available for Hatchback only. The site will allow an order to be processed if the
chosen vehicle confguratons are in stock, otherwise a message will be displayed asking the user to try again later.
Based on the specifcaton the following classifcaton tree has been developed:

L L
L] L] L) L L) L

Based on the "Supercar" classifcaton tree the following positve test cases have been created:

Test case Power Unit Body Style
1 Petrol SUV

2 Diesel Saloon

3 Petrol Hatchback

Which test case is needed to complete the set? [K3] 2 credits

A. Power Unit: Hybrid, Body Style: Saloon

B. Power Unit: Diesel, Body Style: Hatchback

C. Power Unit: Petrol, Body Style: Saloon

D. Power Unit: Hybrid, Body Style: Hatchback

Correct Answer: D

QUESTION 2

Which of the following BEST explains the use of cause-efect graphing? [K2] 1 credit
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A. Useful to gain a graphical overview of a program\\'s logical structure and are typically used as the basis for creatng
decision tables.

B. Used with the purpose that with a limited set of test cases a reasonable level of coverage can be achieved.
C. Used to test the ability of the sofware to enter into and exit from defned states via valid and invalid transitons.

D. Used as a clear method to verify testng of all pertnent combinatons of conditons and to verify that all possible
combinatons are handled by the sofware under test.

Correct Answer: A

QUESTION 3

You are testng an ATM based on the following use case; ATM start screen is showing
1.

The user inserts card

2.

The user types in PIN

3.

The user selects “cash with receipt\\
4,

The user selects 50

5.

The user selects "no further service\\' Expected results

The ATM provides 50 to the user

The ATM return the card and balance slip

The ATM clears the screen

The ATM returns to start menu In your test log which of the following could be noted as part of additonal atenton points?
[K3] 2 credits

A
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Issues regarding tme-behavior

B.

Issues regarding interoperability

C.

More test cases needed to achieve full coverage
D.

Expected results not clearly defned

Correct Answer: A

QUESTION 4
A new banking system has 2 customers\\' types, 2 account types and will operate in two diferent countries?

How many test cases will be needed using the pair wise testng technique and the appropriate 2-wise orthogonal array?
[K3] 3 credits

A2
B.4
C.5
D.8

Correct Answer: B

QUESTION 5

Which of the following is a typical work product that the Test Analyst would deliver as part of the test closure actvites?
[K2] 1 credit

A. A list of all deferred defects

B. A list of all rejected defect reports

C. Alist of all defects found in producton and fxed in this release
D. A list of all resolved defects

Correct Answer: A

TA12 Practice Test TA12 Study Guide TA12 Braindumps

TA12 Practice Test | TA12 Study Guide | TA12 Braindumps 4/4


https://www.pass2lead.com/ta12.html
https://www.pass2lead.com/ta12.html
https://www.pass2lead.com/ta12.html
http://www.tcpdf.org
https://www.pass2lead.com/ta12.html
https://www.pass2lead.com/ta12.html
https://www.pass2lead.com/ta12.html

